Colorimetric transformation i=3
X*=x3 =wj with x = o*, I*, v¥; wi =0,18
rgb —> olv* g OIV*—> 0IV¥




Colorimetric transformation i=3
X*=x3 =wj with x = o*, I*, v¥; wi =0,18
rgb —> olv* g OIV*—> 0IV¥




Colorimetric transformation i=3
X*=x3 =wj with x = o*, I*, v¥; wi =0,18
rgb —> olv* g OIV*—> 0IV¥




Colorimetric transformation i=3
X*=x3 =wj with x = o*, I*, v¥; wi =0,18
rgb —> olv* g OIV*—> 0IV¥




Colorimetric transformation i=3
X*=x3 =wj with x = o*, I*, v¥; wi =0,18
rgb —> olv* g OIV*—> 0IV¥




Colorimetric transformation i=3
X*=x3 =wj with x = o*, I*, v¥; wi =0,18
rgb —> olv* g OIV*—> 0IV¥




